TR O LR S AT b A5 BB R R

No. 1 2 3 4 5 6 7

A E R High =15l High L g=3) B o T Higm High Imis T
AR L < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
e T < 0.1 < 041 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 041
) < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
NiZA=PN < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < 0.04
it < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
27K ER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
7 ILEILIKER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PCB < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PVIESEL D) < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wig bR < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
1, 2—o4ynox42 (< 0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004
Li=yyanxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
vax—12-vyaazFLy (< 0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004
1,1,1—kysonx4r < 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 0.0026 < _0.0005 0.0006
1,1,2—kysonx4r < 0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
r)o2ooITFL 2 |< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 0.01 < 0.002 0.003
ThZ700xTFL 2 [< 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 0.0011
1,3—Y4von7axy < 0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
F2oL <_0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
ROV < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003
FAAN AT < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
oty < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
L < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002




FERE10FEE

No. 10 11 12 13 14 15 16
A E M R ey wRIEX wRIEX X RIRX IR B HEDF™
AR L < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
e T < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
) < _0.005 < _0.005 < _0.005 < _0.005 0.007 < _0.005 < _0.005 < _0.005
NiZA=PN < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04
it < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
27K ER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
7 ILEILIKER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PCB < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PVIESEL D) < _0.002 < _0.002 < 0.002 < _0.002 < 0.002 < 0.002 < 0.002 < _0.002
Wig bR < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
1, 2—o4ynpx42 (< 0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004
Li=yyanxFLy < 0.002 < _0.002 < 0.002 < _0.002 < 0.002 < 0.002 < 0.002 < _0.002
va—12—-vyaazFLy (< 0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004
1,1,1—kysonx4r < 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,1,2—kysonx4r < 0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
r)o2ooITFL 2 |< 0.002 < _0.002 0.016 < 0.002 < 0.002 < 0.002 < 0.002 < _0.002
ThZ700TFL | 0.001 < _0.0005 0.0013 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,3—Y4von7axy < 0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
F2oL <_0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
ROV < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003
FAAN AT < 0.002 < _0.002 < 0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002
oty < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
L < _0.002 < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002




FERE10FEE

No. 17 18 19 20 21 22 23 24
A E O R BT HELHM | BEM HEAfIUT| RXHH RAf T RABAKM| &AM
AR L < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
e T < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
) < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
NiZA=PN < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04
it < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
27K ER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
7 ILEILIKER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PCB < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PVIESEL D) < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < _0.002
Wig bR < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
1, 2—o4ynpx42 (< 0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004
Li=yyanxFLy < 0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < _0.002
va—12—-vyaazFLy (< 0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004
1,1,1—kysonx4r < 0.0005 0.004 < _0.0005 0.0029 0.0013 < _0.0005 < _0.0005 < _0.0005
1,1,2—kysonx4r < 0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
r)o2ooITFL 2 |< 0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < _0.002
ThZ700xTFL > [< 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 0.0026 < _0.0005 < _0.0005
1,3—Y4von7axy < 0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
F2oL <_0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
ROV < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003
FAAN AT < 0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
oty < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
L < _0.002 < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002




FERE10FEE

No. 25 26 27 28 29 30 31 32
A E MM RERX RERX wRIERX X TR BEX BEX EIRA
AR L < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
e T < 0.1 < 041 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 041
) < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
NiZA=PN < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < 0.04
it < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
27K ER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
7 ILEILIKER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PCB < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PVIESEL D) < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wig bR < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
1, 2—o4ynpx42 (< 0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004
Li=yyanxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
va—12—-vyaazFLy (< 0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004
1,1,1—kysonx4r < 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,1,2—kysonx4r < 0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
r)o2ooITFL 2 |< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThZ700xTFL > [< 0.0005 0.031 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,3—Y4von7axy < 0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
F2oL <_0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
ROV < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003
FAAN AT < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
oty < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
L < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002




FERE10FEE

No. 33 34 35 36 37 38 39 40
A E M R INEFH HhEDHFE™M | BET s Al INETH INETH HEET
AR L < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
e T < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
) < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
NiZA=PN < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04
it < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
27K ER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
7 ILEILIKER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PCB < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PVIESEL D) < _0.002 < _0.002 < 0.002 < _0.002 < 0.002 < 0.002 < 0.002 < _0.002
Wig bR < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
1, 2—o4ynpx42 (< 0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004
Li=yyanxFLy < 0.002 < _0.002 < 0.002 < _0.002 < 0.002 < 0.002 < 0.002 < _0.002
va—12—-vyaazFLy (< 0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004
1,1,1—kysonx4r < 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 0.004 0.01
1,1,2—kysonx4r < 0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
r)o2ooITFL 2 |< 0.002 < _0.002 < 0.002 0.0027 < 0.002 < 0.002 0.009 0.008
ThZ700xTFL > [< 0.0005 < _0.0005 0.0038 < _0.0005 0.0008 < _0.0005 0.0021 0.0005
1,3—Y4von7axy < 0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
F2oL <_0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
ROV < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003
FAAN AT < 0.002 < _0.002 < 0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002
oty < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
L < _0.002 < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002




FERE10FEE

No. 41 42 43 44 45 46 47 48
A E M R RERX P EX #EX XRE BERE =HKX IR Al
AR L < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
e T < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
) < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 0.006 0.006 < _0.005
NiZA=PN < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04
it < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
27K ER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
7 ILEILIKER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PCB < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PVIESEL D) < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < _0.002
Wig bR < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
1, 2—o4ynpx42 (< 0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004
Li=yyanxFLy < 0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < _0.002
va—12—-vyaazFLy (< 0.004 < _0.004 0.007 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004
1,1,1—kysonx4r < 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,1,2—kysonx4r < 0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
r)o2ooITFL 2 |< 0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < _0.002
ThZ700xTFL > [< 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,3—Y4von7axy < 0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
F2oL <_0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
ROV < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003
FAAN AT < 0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
oty < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
L < _0.002 < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002




FERE10FEE

No. 49 50 51 52 53 54 55 56
A E M R IRRK EIRA INEFTH INEFTH INEFTH INEFTH INEFTH BEmHh
AR L < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
e T < 0.1 < 041 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 041
) < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
NiZA=PN < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < 0.04
it < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
27K ER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
7 ILEILIKER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PCB < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PVIESEL D) < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wig bR < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
1, 2—o4ynpx42 (< 0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004
Li=yyanxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
va—12—-vyaazFLy (< 0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004
1,1,1—kysonx4r < 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 0.0012
1,1,2—kysonx4r < 0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
r)o2ooITFL 2 |< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThZ700xTFL > [< 0.0005 < _0.0005 < _0.0005 < _0.0005 0.0012 < _0.0005 < _0.0005 < _0.0005
1,3—Y4von7axy < 0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
F2oL <_0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
ROV < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003
FAAN AT < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
oty < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
L < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002




FERE10FEE

No. 57 58 59 60 61 62 63 64
A E O R et et HEkin HEHAX XIS el hRX IR
AR L < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
e T < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
) < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 0.008 < _0.005
NiZA=PN < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04
it < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
27K ER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
7 ILEILIKER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PCB < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PVIESEL D) < _0.002 < _0.002 < 0.002 < _0.002 < 0.002 < 0.002 < 0.002 < _0.002
Wig bR < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
1, 2—o4ynpx42 (< 0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004
Li=yyanxFLy < 0.002 < _0.002 < 0.002 < _0.002 < 0.002 < 0.002 < 0.002 < _0.002
va—12—-vyaazFLy (< 0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004
1,1,1—kysonx4r < 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,1,2—kysonx4r < 0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
rJ)2OoOIFL 2| 0.004 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < _0.002
ThZ700TFL | 0.001 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,3—Y4von7axy < 0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
F2oL <_0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
ROV < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003
FAAN AT < 0.002 < _0.002 < 0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002
oty < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
L < _0.002 < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002




FERE10FEE

No. 65 66 67 68 69 70 71 72
A E M R BE™ INEFTH INEFTH INEFTH INEFTH INEFTH ZE™ Fpk
AR L < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
e T < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
) < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 0.005 < _0.005
NiZA=PN < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04
it < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
27K ER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
7 ILEILIKER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PCB < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PVIESEL D) < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < _0.002
Wig bR < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
1, 2—o4ynpx42 (< 0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004
Li=yyanxFLy < 0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < _0.002
va—12—-vyaazFLy (< 0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004
1,1,1—kysonx4r < 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,1,2—kysonx4r < 0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
r)o2ooITFL 2 |< 0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < _0.002
ThZ700xTFL > [< 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,3—Y4von7axy < 0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
F2oL <_0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
ROV < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003
FAAN AT < 0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
oty < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
L < _0.002 < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002




FERE10FEE

No. 73 74 75 76 77 78 79 80
A E M R AR HESX HEAAX SE P EX BT BT HTE ™
AR L < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
e T < 0.1 < 041 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 041
) < _0.005 < _0.005 < _0.005 < _0.005 0.010 < _0.005 < _0.005 < _0.005
NiZA=PN < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < 0.04
it < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
27K ER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
7 ILEILIKER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PCB < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PVIESEL D) < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wig bR < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
1, 2—o4ynpx42 (< 0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004
Li=yyanxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
va—12—-vyaazFLy (< 0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004
1,1,1—kysonx4r < 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,1,2—kysonx4r < 0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
k)o2ooIFL 2| 0.006 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThZ700TFL |  0.026 0.1 < _0.0005 0.0041 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,3—Y4von7axy < 0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
F2oL <_0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
ROV < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003
FAAN AT < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
oty < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
L < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002




FERE10FEE

(mg.”L)
No. 81 82 83 84 85 86 87
B OE #h & HHAX KHERX X BTHT™ BTHET™ KHEHRX KHEHRX
HEEH L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
T < 01 < 01 < 01 < 0.1 < 01 < 01 < 01
£n < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 0.007 < 0.005
aNiZ=PN < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04
At < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
K ER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
7 )L JLIKER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
oHOnOAaY, < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ikt ik < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1, 2—<4oox4> (< 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
1,1—ooon0xFLr < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
vz2—12—ssonzFLy < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1—rysoox4>|< 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,1,2—rysoox4|< 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
k)oooxTFL 2 |< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThZoOoO0xFL 2K 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,3—<4san7axy|< 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
Fr)5L < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
IO < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FANAILD < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
oy < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002




FR1OFEE B R H F E 0 X R &R E h = AR EHE R

1 #HERX (mg.”L)
SR—12—
11—<400 ~O0IFL 1.1.1—kJ%Y K)yooTF FhkSHOoT
No. IFLY > agIT4ay Ly FL
1 < 0.002 < 0.004 < 0.0005 0.002 0.0018
2 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
3 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
4 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
5 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
6 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
7 < 0.002 < 0.004 0.0005 < 0.002 < 0.0005
8 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
9 < 0.002 < 0.004 < 0.0005 < 0.002 0.0014
10 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
11 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
12 < 0.002 < 0.004 0.0007 0.005 < 0.0005
13 < 0.002 < 0.004 0.0005 0.002 < 0.0005
14 < 0.002 0.004 < 0.0005 0.003 < 0.0005
15 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
16 < 0.002 < 0.004 0.0006 < 0.002 < 0.0005
17 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
18 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
19 < 0.002 < 0.004 < 0.0005 0.002 < 0.0005
20 < 0.002 < 0.004 < 0.0005 0.002 0.0022
2 A (mg. L)
SR—12—
11—40n 00T FL 11,1—rJS kJyoooxTF ThZo0O0T
No. SR E Hh i IFL> > [ o o A L FL
1|zA%mh < 0.002 < 0.004 0.0005 0.002 0.0025
AEETnD < 0.002 < 0.004 0.0005 0.002 0.002
3584 tH < 0.002 < 0.004 0.0005 0.021 < 0.0005
4|Zf#Th < 0.002 < 0.004 0.0005 0.009 0.011
5(ZA%Th < 0.002 < 0.004 < 0.0005 0.006 0.035
NEETnD < 0.002 < 0.004 < 0.0005 0.013 0.0051
7584 tH < 0.002 < 0.004 0.0005 0.002 < 0.0005
REEinD < 0.002 < 0.004 0.0006 0.016 0.0051
9[ZA%Th < 0.002 < 0.004 0.0005 0.003 0.0011
INEET < 0.002 < 0.004 0.0005 0.019 0.0016
11| H < 0.002 < 0.004 0.0006 0.005 0.030
12| H < 0.002 < 0.004 < 0.0005 0.007 0.042
13|FA%th < 0.002 < 0.004 < 0.0005 0.002 0.010
14| H < 0.002 < 0.004 0.0005 0.002 0.016
15| th < 0.002 < 0.004 0.0016 < 0.002 0.0055
16| th < 0.002 < 0.004 0.0005 < 0.002 < 0.0005
17|FA%&H < 0.002 < 0.004 0.0005 0.018 0.0005
18|; il < 0.002 < 0.004 0.0005 < 0.002 < 0.0005
19 ™ < 0.002 < 0.004 0.0017 < 0.002 0.0062
20 il < 0.002 < 0.004 0.0005 < 0.002 < 0.0005
21 il < 0.002 < 0.004 0.0023 < 0.002 0.0049
22 il < 0.002 < 0.004 0.0005 0.007 0.0013




3 HAAX (mg. /L)
SR—=12—
1.1—400 ~O0IFL 1,1,1—kJ)%Y K)yooTF FrSHO0T

No. B E Hh i IFLY N OoOTAay Ly FLV
11J8;Ih < 0.002 < 0.004 0.0006 0.003 0.013
2(#HEAASRX [< 0.002 < 0.004 < 0.0005 < 0.002 0.018
J[HAAKX [< 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
AHEARX [< 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
5|tHAARX [< 0.002 < 0.004 < 0.0005 < 0.002 0.65
6[HAAX [< 0.002 < 0.004 < 0.0005 < 0.002 15
7IHAARX [< 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
S|tHHAAKX [< 0.002 < 0.004 < 0.0005 < 0.002 0.0024
9|JB;Imh < 0.002 < 0.004 0.0064 < 0.002 0.0014
101J8;Ith < 0.002 < 0.004 < 0.0005 < 0.002 0.37
11381 < 0.002 < 0.004 < 0.0005 < 0.002 0.0013
12|J8; I < 0.002 < 0.004 < 0.0005 < 0.002 0.11
13|J8; I < 0.002 < 0.004 0.0005 0.003 0.013
14| HEAASX [< 0.002 < 0.004 < 0.0005 < 0.002 0.01
15(HEAAX [< 0.002 < 0.004 < 0.0005 0.002 0.017
16| HEAARX [< 0.002 < 0.004 0.0040 < 0.002 0.013
17|#HEAX [< 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
18[HHEAARX [< 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
19[HEAARX [< 0.002 < 0.004 < 0.0005 < 0.002 0.0023
20[fHEARX |< 0.002 0.012 < 0.0005 0.011 0.0023
21[HEASRX |[< 0.002 < 0.004 < 0.0005 < 0.002 0.004
22\)8:Ih < 0.002 < 0.004 0.0013 < 0.002 0.017
23[)8:Ih < 0.002 < 0.004 0.0015 < 0.002 0.016
2408;17h < 0.002 < 0.004 0.0039 < 0.002 0.01
2508;Ih < 0.002 < 0.004 0.0052 < 0.002 0.01
26(J8;Ih < 0.002 < 0.004 0.0015 < 0.002 0.017
270)8:Ih < 0.002 < 0.004 0.0025 < 0.002 0.0023
28)8:Ih < 0.002 < 0.004 0.0056 < 0.002 0.004
29)8:Ih < 0.002 < 0.004 0.0018 < 0.002 0.0036
30/8;:Ith < 0.002 < 0.004 < 0.0005 < 0.002 0.55




ERH10FEEME=SY UV RERE M 2B EHR

(mg.”L)
SR—12— 1,1,1—KY
11—240 SHoorF| YARIA r)pooxz| FESH00
No. |BIEH S i) itk miEkxFK| OIFLY Ly > FLv IFLY
1|&#H - - < 0.0002 < 0.002 0.004 < 0.0005 0.005 0.079
2| 5#EH - - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.003 0.0005
3| EmiEET - - < 0.0002 < 0.002 < 0.004 0.0006 0.005 0.0033
4| BIX - 0.011 - - - - - -
5[ - - < 0.0002 0.013 < 0.004 0.047 0.025 < 0.0005
6| Ede BT - - < 0.0002 <_0.002 <_0.004 0.006 0.043 0.0022
1|HREX - - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
8| HIEX - - 0.0036 <_0.002 <_0.004 <_0.0005 <_0.002 < 0.0005
IERX - - < 0.0002 < 0.002 < 0.004 < 0.0005 0.012 0.0045
10[IRIBX - - < 0.0002 < _0.002 < 0.004 < 0.0005 0.007 0.0007
11[HREX - - < 0.0002 < 0.002 < 0.004 0.0008 0.099 0.28
12| BfhHX - 0.017 - - - - - -
13[REMLT ] - - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.003 0.044
14 REMLUTR ] - - < 0.0002 < 0.002 < 0.004 0.014 0.034 0.0022
15| REBM LT ] - - < 0.0002 < 0.002 0.006 0.0095 0.029 0.0026
16| K#0mH - - < 0.0002 < _0.002 < 0.004 0.0039 < 0.003 0.0013
17[EA T - - < 0.0002 < 0.002 < 0.004 < 0.0005 0.025 < 0.0005
18|EAZ KT | - - < 0.0002 < 0.002 < 0.004 0.0025 < 0.003 0.0035
19|EABXT | - - < 0.0002 < 0.002 < 0.004 0.0048 0.004 0.081
20|RABXM | - - < 0.0002 < 0.002 < 0.004 0.003 < 0.003 0.047
|EABXT| - - < 0.0002 < 0.002 < 0.004 0.0024 0.023 0.003
2|RABXM| - - < 0.0002 < 0.002 < 0.004 0.0056 0.013 0.0016
23|HET - - < 0.0002 < 0.002 < 0.004 0.0017 0.015 < 0.0005
24| HET - - < 0.0002 < 0.002 < 0.004 0.0012 < 0.003 < 0.0005
25| R A - - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.003 0.0005
26| HRIBX - - < 0.0002 < 0.002 < 0.004 0.0008 0.009 0.0041
IESN i - - < 0.0002 < 0.002 < 0.004 < 0.0005 0.025 < 0.0005
28| A F0h - - < 0.0002 0.003 0.006 0.0035 0.04 < 0.0005
29| KFH - - < 0.0002 < 0.002 < 0.004 0.0008 < 0.003 0.0056
30/METH - - < 0.0002 < 0.002 < 0.004 0.03 0.009 0.0009
FIEPNii - - < 0.0002 < 0.002 < 0.004 0.017 0.007 < 0.0005
32|/MEH - - 0.0002 < 0.002 < 0.004 0.0007 0.018 < 0.0005
3B REA™H - - < 0.0002 < 0.002 < 0.004 0.0051 0.02 0.032
HUBBERX - - < 0.0002 < 0.002 < 0.004 0.0041 0.018 0.035
35|ERX 0.005 - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
B|BERX 0.012 - < 0.0002 0.003 1.0 < 0.0005 < 0.002 < 0.0005
373 )l - - 0.0099 < 0.002 < 0.004 < 0.0005 0.004 < 0.0005
38|31 JIlTh - - 0.0003 < 0.002 < 0.004 < 0.0005 < 0.003 < 0.0005
N|ERFhH - - < 0.0002 < 0.002 < 0.004 0.0005 < 0.003 0.015
40|/hEHH - - < 0.0002 < 0.002 < 0.004 0.0011 0.008 0.15
A|IhEHF - - <_0.0002 < 0.002 < 0.004 0.0006 0.005 0.038
42|/NETH - - < 0.0002 < 0.002 < 0.004 0.0037 0.012 0.0022
43|/hEFHH - - < 0.0002 < 0.002 < 0.004 0.001 0.009 0.11
H“|RAH - - < 0.0002 < 0.002 < 0.004 0.0011 0.014 0.098
45| K Erh - - < 0.0002 < 0.002 < 0.004 0.0006 0.008 0.06
46| KRB B h - - < 0.0002 < 0.002 < 0.004 0.0009 0.014 0.062
47| R - - < 0.0002 < 0.002 < 0.004 0.0006 0.011 0.017
48| R Eh - - < 0.0002 < 0.002 < 0.004 0.0023 0.012 0.049
49| X - - < 0.0002 < 0.002 < 0.004 0.0018 0.017 0.010
50| Kk ¥ h - - < 0.0002 < 0.002 < 0.004 < 0.0005 0.008 0.0019
51|XREKX - - 0.0005 0.018 < 0.004 0.019 < 0.002 < 0.0005
52| XFHEKX - - 0.0006 0.018 < 0.004 0.035 < 0.002 < 0.0005
53|37 )1l - - < 0.0002 < 0.002 < 0.004 < 0.0005 0.004 0.003
54|31 )1l - - < 0.0002 < 0.002 < 0.004 0.0005 0.005 0.1
55|37 )1l - - < 0.0002 < 0.002 0.009 0.0008 0.048 0.0009
56|E s Fh - - < 0.0002 < 0.002 < 0.004 < 0.0005 0.067 0.0009
57| EonFH - - < 0.0002 < 0.002 < 0.004 0.0007 0.003 0.0032
58| FF - - 0.0007 0.07 < 0.004 0.016 0.11 < 0.0005
59| b - - 0.0006 0.025 0.005 0.0062 0.078 < 0.0005
60|/NE&FTH - - < 0.0002 < 0.002 < 0.004 0.0005 0.008 < 0.0005
61| = - - < 0.0002 < 0.002 < 0.004 < 0.0005 0.004 0.046
62| Rk Eh - - < 0.0002 < 0.002 < 0.004 < 0.0005 0.005 0.0028
63| KB Erh - - < 0.0002 < 0.002 < 0.004 0.001 0.02 0.032
64| R B - - < 0.0002 < 0.002 < 0.004 < 0.0005 0.005 0.0095
65| Kk Frh - - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.003 < 0.0005
66 RX 0.005 - - - - - - -
67|/\EFhH - - < 0.0002 0.004 0.004 0.0043 0.019 < 0.0005
68[/\EFh - - < 0.0002 < 0.002 < 0.004 0.0021 0.022 0.0016
69|/\EFh - - < 0.0002 0.002 < 0.004 0.0026 0.004 < 0.0005
70| El 3L - - < 0.0002 < 0.002 0.012 0.0008 0.007 0.063
71 |Er - - < 0.0002 < 0.002 0.031 0.0013 0.026 0.32
72|ElLh - - < 0.0002 < 0.002 0.012 0.0008 0.007 0.093
73|Eszh - - < 0.0002 < 0.002 < 0.004 0.0006 0.006 0.013




(mg.”L)

SR—12— 1,1,1—KY
1,1—>40 sHopTF| ~YBOQOIA kJyopxT| Fh370R
No. |BIzEHh = pie) fittz= miglkxx| BIFL> Ly v FLV IFLY
T4\ [T - — < 0.0002 < 0.002 < 0.004 < 0.0005 0.006 0.0034
15| fF P ™ - - < 0.0002 < 0.002 0.006 0.0005 0.066 < 0.0005
76| =FEH - - < 0.0002 < 0.002 < 0.004 0.0008 0.029 0.0047
77| =ESH - - < 0.0002 < 0.002 < 0.004 < 0.0005 0.005 0.0042
18[=FEH - - < 0.0002 < 0.002 < 0.004 < 0.0005 0.015 0.0079
79| =FETH - - < 0.0002 < 0.002 < 0.004 < 0.0005 0.006 0.0057
80|=E™h - - 0.0002 < 0.002 < 0.004 0.0008 0.024 0.033
81|=fEmh - - < 0.0002 < 0.002 < 0.004 0.0006 < 0.003 < 0.0005
82| tHHAABX - - 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
83|[tHAANX - - < 0.0002 < 0.002 < 0.004 0.023 < 0.002 0.0013
84[F2 i X - - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0057
85| #2ilfi X - - < 0.0002 < 0.002 < 0.004 0.0024 0.006 0.098
FREREES - - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0053
87|/\EFm - - < 0.0002 < 0.002 < 0.004 0.0005 0.004 0.012
88|/\EFmH - - < 0.0002 < 0.002 < 0.004 0.0005 0.004 0.013
89|/\EFm - - < 0.0002 < 0.002 < 0.004 0.0005 0.004 0.01
90|/\EFh - - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
I |/NEFH - - < 0.0002 < 0.002 < 0.004 0.0019 0.036 0.0098
92|/\EFm - - < 0.0002 < 0.002 < 0.004 0.0068 0.042 0.0046
93| BEh - - < 0.0002 0.002 0.014 0.0036 0.032 0.0079
94| HE™H - - < 0.0002 0.003 0.007 0.0041 0.2 0.0092
95| h = - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.003 0.0008
96|5ffmh - - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.003 < 0.0005
LYlEEii - - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.003 0.0044
98|78 I - - < 0.0002 < 0.002 0.018 < 0.0005 0.016 < 0.0005
99|JBITh - - < 0.0002 < 0.002 < 0.004 0.0007 0.007 0.0052
100[JR;I - - < 0.0002 < 0.002 < 0.004 0.0048 < 0.003 0.014
101 [ HHAAK - - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0013
102|HAA X - - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0070
103 fHHAARK - - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0073
104|HAA K - - < 0.0002 < 0.002 0.10 < 0.0005 0.009 0.030
105(HERX - - < 0.0002 < 0.002 0.038 < 0.0005 0.014 0.25
106|JR;Ih - - < 0.0002 < 0.002 0.004 < 0.0005 0.004 0.043
107|138 - - < 0.0002 < 0.002 0.014 < 0.0005 0.037 < 0.0005
108|JR;Ih - - < 0.0002 < 0.002 < 0.004 0.0013 < 0.003 0.02
109 HHAAK 0.089 - - - - - - -
110|BTH™ - - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.014
11| XKERX - - < 0.0002 0.009 0.11 0.0018 0.023 0.17
112| KEK - - < 0.0002 0.004 0.13 0.0071 0.062 0.013
13| KARK - - < 0.0002 0.003 0.069 0.0026 0.030 0.082
114| KEK - - < 0.0002 < 0.002 0.014 < 0.0005 0.046 0.0013
115| KARK - - < 0.0002 < 0.002 0.050 < 0.0005 < 0.002 < 0.0005
116|BTET™ - - < 0.0002 < 0.002 < 0.004 < 0.0005 0.002 < 0.0005
117|BETETTH = - < 0.0002 0.003 < 0.004 0.0075 0.03 < 0.0005
118|BTET™H - - < 0.0002 0.006 < 0.004 0.017 0.069 0.0007
119|BTHTTH = - < 0.0002 0.002 < 0.004 0.0087 0.084 0.0018




